ARMITAGE SHANKS SANDRINGHAM SL B4449 KITCHEN MIXER - Don't use this page

Ref. Description

1 Handle,w/o logo-compl. 1 Pc.
2 Handle screw M5x10 1 Pc.

3 Cap(Blue/Red) 1 Pc.

4 Rosette -compl. 1 Pc.

5 O-Ring 40x1 1 Pc.

6 Volume stop 1 Pc.

7 Screw M4x39 3 Pcs.

8 Cartridge 47mm,USA 10 Pcs.
9 Oval-head screw M4x10 2 Pcs.
10 Adapter 1 Pcs.

11 Screw M5x8 1 Pcs.

12 Reprise basin mixer nozzle 1 Pc.
13 Body for kitchen 1 Pcs.

14 Connecting set 1 Pc.

15 U plate support 1 Pcs.

16 Brass rosette

17 Manifold M10x1 1 Pcs.

18 O-Ring 7x2

19 Gleitring 27.3-31.7-3 1 Pcs.

20 O- Ring 26.64x2.62 2 Pcs.

21 Gleitring 34.6-38.9-3 1 Pcs.

22 Service kit spout

23 Pipes L386mm-assembly 2 Pcs.
24 O-Ring 7.65x1.78

NB -- colour/finish options
Chrome = AA

Part No.

B960345AA
A963309NU
A963054NU
B960247AA
B960277NU
A860700NU
A963176NU
A961953NU

AS61625AA
B960232NU
B960440AA
B960230NU
B960231NU

B960341NU



